

Math 5B - Weekly quiz V  
04/29/2010

NAME: Ellie Grano

Grade:     /3

Suppose  $g(s, t) = f(x(s, t), y(s, t))$  and  $f$  is differentiable everywhere. Calculate  $\frac{\partial g}{\partial s}(0, 0)$  and  $\frac{\partial g}{\partial t}(0, 0)$  using the following information:

$$\frac{\partial f}{\partial x}(3, 1) = -1$$

$$\frac{\partial f}{\partial y}(3, 1) = -2$$

$$x(s, t) = e^t + s + 2$$

$$y(s, t) = ts^2 + t + 1$$

$$x_s = 1 \quad x_t = e^t$$

$$y_s = 2ts \quad y_t = s^2 + 1$$

$$x(0, 0) = 3$$

$$y(0, 0) = 1$$

$$\begin{aligned} \frac{\partial g}{\partial s}(0, 0) &= \frac{\partial f}{\partial x}(3, 1) \cdot \frac{\partial x}{\partial s}(0, 0) + \frac{\partial f}{\partial y}(3, 1) \cdot \frac{\partial y}{\partial s}(0, 0) \\ &= (-1) \cdot (1) + (-2) \cdot (0) = -1 \end{aligned}$$

$$\begin{aligned} \frac{\partial g}{\partial t}(0, 0) &= \frac{\partial f}{\partial x}(3, 1) \cdot \frac{\partial x}{\partial t}(0, 0) + \frac{\partial f}{\partial y}(3, 1) \cdot \frac{\partial y}{\partial t}(0, 0) \\ &= (-1) \cdot (1) + (-2) \cdot (1) = -3 \end{aligned}$$

$$\nabla g(0, 0) = (-1, -3)$$

OR  $\frac{\partial g}{\partial s}(0, 0) = -1$      $\frac{\partial g}{\partial t}(0, 0) = -3$